# **Carrier Profile Report**

HJS TANK LINES LTD. NSC #: 202-033-021

Profile Start Date: 01-Jan-2011

Profile End Date: 28-Aug-2011

Profile Requested By: hsenkler

Report Run Date: 28-Aug-2017

#### Contents

Section 1 - Carrier Information	2
Section 2 - Profile Scores as of Aug 2011	3
Section 3 - Active Fleet from 01-Jan-2011 to 28-Aug-2011	4
Section 4 - Contraventions	
Section 4.1 - Driver Contraventions (Guilty)	6
Section 4.2 - Carrier Contraventions (Guilty)	7
Section 4.3 - Pending Driver Contraventions	8
Section 4.4 - Pending Carrier Contraventions	Ş
Section 5 - CVSA Inspection Results	10
Section 6 - Accident Information	11
Section 7 - Audit Summary	12
Section 8 - CVIP Vehicle Inspection History	13

#### **NSC Carrier Profile**

The Carrier Profile is a measurement of a carrier's on-road performance and is comprised of a carrier's demographic information, accident records, contraventions, and vehicle inspections.

On-road performance is measured in the following ways:

- · Contraventions: The number and types of violation tickets that have been deemed guilty;
- CVSA (Out of Service): Roadside CVSA vehicle inspections that put a power unit, trailer or driver out-of-service;
- · Accidents: The number and types of accidents where the driver was found at fault or fault unknown;
- · Total: Sum of accidents, out-of-service CVSA inspections and contraventions.

Profile scores are compared to the provincial median for cariers with the same or similar fleet size.

- · Average Fleet Size: Calculated for a 12 month period by dividing the Total Active Vehicle Days by the Active Monthly Days.
  - Total Active Vehicle Days: Calculated by adding the number of days each vehicle was operating under the NSC certificate for the
    previous 12 months. For example, if a carrier only had ten vehicles operating from January 1 to February 2, the Total Active Vehicle
    Days would be 330 days.
  - Active Monthly Days: Calculated by adding the number of days in each month that the carrier had an active vehicle. For example, if a
    carrier only had ten vehicles operating from January 1 to February 2, the Active Monthly Days would be 59 days and the Average
    Fleet Size would be 5.59
- Risk Band: Carriers are divided into 7 risk bands based on their fleet size.
- **Provincial Median:** Calculated on an annual basis for each risk band and each category (Contraventions, CVSA, Accidents, Total) based on carriers who have accumulated points in a category.

Please report any items believed to be in error to the NSC Program Office by mail, fax, or email. The NSC program office will investigate and, where applicable, make the necessary corrections as promptly as possible.

Mail: NSC Program Office, CVSE: Fax: (250) 952-0578 Email: NSC@gov.bc.ca

PO Box 9250 Stn Prov Govt Victoria, BC V8W 9J2

# Section 1 - Carrier Information

### **Demographic Information:**

Carrier Name: HJS TANK LINES LTD.

Jurisdiction: BC

Certficate Issue Date: 05-Nov-2012 Extra-Provincial: Yes Carrier Mailing Address: 24851 84 AVE Premium Carrier: No

LANGLEY BC V1M 3P4 Weigh2GoBC: No Preventative Maintenance: No

Primary Types of Business:

Number of Currently Licensed Vehicles: 15

#### **Certificate Information:**

Certificate Status: Active

Safety Rating: Satisfactory - Unaudited

Profile Status: Satisfactory
Audit Status: Unaudited

Compliance Review:

#### Current Profile Scores as of 31-Aug-2011:

	Average Fleet Size	Contraventions	CVSA (Out of Service)	Accidents	Total
HJS TANK LINES LTD.	0	0.00	0.00	0.00	0.00

The carrier's profile status is set based on the score ranges listed below. If scores in all areas are in the Satisfactory range, the carrier's profile status will be Satisfactory. If any score is in the Conditional range, the carrier's profile status will be Conditional. If any score is in the Unsatisfactory range, the carrier's profile status will be Unsatisfactory.

Profile Status	Contraventions	CVSA (Out of Service)	Accidents	Total
Satisfactory	0.00 - 9.48	0.00 - 7.98	0.00 - 7.48	0.00 - 11.98
Conditional	9.49 - 17.48	7.99 - 11.48	7.49 - 9.98	11.99 - 20.98
Unsatisfactory	17.49 and above	11.49 and above	9.99 and above	20.99 and above

#### **NSC Interventions:**

During the past 8 months, the carrier has not been subject to any interventions.

Triggered interventions occur due to the carrier's profile scores exceeding the thresholds set by the NSC program Office in any one of the four categories.

Section 1 - Carrier Information Page 2

NSC #: 202-033-021 HJS TANK LINES LTD.

# Section 2 - Profile Scores as of Aug 2011

This section lists the carrier's profile scores each month for the past 8 months.

Month	Total Active Vehicle Days	Active Monthly Days	Average Fleet Size	Contraventions Score	CVSA Score	Accident Score	Total Score
2011-08	0	0	0	0.00	0.00	0.00	0.00
2011-07	0	0	0	0.00	0.00	0.00	0.00
2011-06	0	0	0	0.00	0.00	0.00	0.00
2011-05	0	0	0	0.00	0.00	0.00	0.00
2011-04	0	0	0	0.00	0.00	0.00	0.00
2011-03	0	0	0	0.00	0.00	0.00	0.00
2011-02	0	0	0	0.00	0.00	0.00	0.00
2011-01	0	0	0	0.00	0.00	0.00	0.00

NSC #: 202-033-021 HJS TANK LINES LTD.

## Section 3 - Active Fleet from 01-Jan-2011 to 28-Aug-2011

This section identifies all commercial vehicles operating under this Safety Certificate during the requested report period.

### NSC #: 202-033-021 HJS TANK LINES LTD.

#### **Section 4 - Contraventions**

This section lists all violation tickets issued to the carrier or to drivers operating vehicles under the carrier's safety certificate during the requested time period.

NSC points are only assigned to violations where the carrier or driver has been deemed guilty. These points remain on the carrier's profile for 12 months from the disposition date (when the carrier or driver was deemed guilty) and not the violation date (when the violation ticket was issued). Active points are only displayed for contraventions that impact the carrier's profile scores. Further information regarding how points are assigned to each type of violation is available on the CVSE website.

The violation ticket details listed below are divided into the following sections:

Section 4.1 - Driver Contraventions (Guilty) Section 4.2 - Carrier Contraventions (Guilty) Section 4.3 - Pending Driver Contraventions Section 4.4 - Pending Carrier Contraventions

## **Summary**

Group Description and Equivalency Codes	Number of Violations in last 12 months	Percentage of Violations	Number of Active Points	Percentage of Total Active Points
Speeding (0001-0099)				
Stop Signs and Traffic Lights (0100-0199)				
Driver's Liabilities (0200-0299)				
Driving (0300-0399)				
Hours of Service (0400-0499)				
Trip Inspection (0500-0599)				
Mechanical Defects (0600-0699)				
Oversize & Overweight (0700-0799)				
Security of Loads (0900-0999)				
Dangerous Goods (1000)				
Criminal Code (1100-1199)				
Miscellaneous (1200-1299)				
Totals	0	100.00%	0	100.00%

### NSC #: 202-033-021 HJS TANK LINES LTD.

# Section 4.1 - Driver Contraventions (Guilty)

This section lists all violation tickets issued and deemed guilty for drivers operating under the carrier's safety certificate during the requested time period. Contraventions are sorted alphabetically by driver name and are listed by violation date beginning with the most recent contravention.

NSC Points are assigned for 12 months from the disposition date. Active points are only displayed for contraventions that impact the carrier's profile scores.

There are no contraventions to report for this section.

## NSC #: 202-033-021 HJS TANK LINES LTD.

# Section 4.2 - Carrier Contraventions (Guilty)

This section lists all violation tickets issued to the carrier and deemed guilty during the requested time period. Contraventions are listed in date order by violation date begining with the most recent contravention.

NSC Points are assigned for 12 months from the disposition date. Active points are only displayed for contraventions that impact the carrier's profile scores.

There are no contraventions to report for this section.

NSC #: 202-033-021 HJS TANK LINES LTD.

## Section 4.3 - Driver Contraventions ( Pending)

This section lists all pending violations issued in BC to drivers operating under the carrier's safety certificate. These violations are in dispute and have not been deemed guilty or cancelled. NSC points are not assigned to a violation ticket until it has been deemed guilty.

Contraventions are sorted alphabetically by driver name and are listed by violation date beginning with the most recent contravention.

There are no contraventions to report for this section.

### NSC #: 202-033-021 HJS TANK LINES LTD.

## Section 4.4 - Carrier Contraventions ( Pending)

This section lists all pending violations issued in BC to the carrier. These violations are in dispute and have not been deemed guilty or cancelled. NSC points are not assigned to a violation ticket until it has been deemed guilty.

Contraventions are listed in date order by violation date beginning with the most recent contravention.

There are no contraventions to report for this section.

NSC #: 202-033-021 HJS TANK LINES LTD.

## Section 5 - CVSA Inspection Results

This section lists all roadside CVSA and school bus inspections performed on commercial vehicles operating under this safety certificate during the requested time period.

If the overall inspection result is Out of Service (OOS), the inspection is assigned 3 NSC points which are valid for 1 year from the inspection Date. Active points are only displayed for inspections that impact the carrier's profile scores.

CVSA levels and defect descriptions can be found on the last page of this section.

#### **CVSA Inspection Levels**

Level	Description
1	Full Inspection (Vehicle & Driver)
2	Walk Around Inspection
3	Driver Only Inspection
4	Special Inspection
5	Vehicle Only Inspection
6	Enhanced - Radioactive
7	Other Provincial
С	School Bus - Complete
R	School Bus - Re-Inspection

There are no inspections for this carrier during the time period.

NSC #: 202-033-021 HJS TANK LINES LTD.

### **Section 6 - Accident Information**

This section lists all police-reported accidents involving commercial vehicles operating under this safety certificate during the requested time period.

NSC points are assigned to accidents where the driver was 50% or more at fault, or if fault is unknown. The number of points assigned is based on the accident type. NSC points are valid for 1 year from the Accident Date. Active points are only displayed for accidents that impact the carrier's profile scores.

There are no accidents for this carrier during the time period.

Section 6 - Accident Information Page 11

NSC #: 202-033-021 HJS TANK LINES LTD.

# Section 7 - Audit Summary

This section summarizes the quantifiable facility audits that have been conducted on this carrier during the requested time period. Compliance Reviews are not included in this summary.

As of June 1, 2015, NSC implemented a new set of questions and scoring criteria for quantifiable facility audits.

No Audits conducted for this carrier during the report period.

Section 7 - Audit Summary Page 12

NSC #: 202-033-021 HJS TANK LINES LTD.

## Section 8 - CVIP Vehicle Inspection History

This section lists all commercial vehicle inspections (CVIP) conducted on and all outstanding Notice & Orders (N&O Box 1 or Box 2) issued to vehicles operating under the safety certificate during the requested period. CVIP inspections and Notice & Orders are listed for informational purposes only. NSC points are not assigned based on inspection results.

If vehicles are regularly failing CVIP inspections, NSC recommends that the carrier review their vehicle maintenance and trip inspection programs to ensure that defects are being resolved in a timely manner and vehicles are being properly maintained throughout the year.

No CVIP Inspections or Notice & Orders occurred during the report period.

# **Carrier Profile Report**

HJS TANK LINES LTD. NSC #: 202-033-021

Profile Start Date: 28-Aug-2011

Profile End Date: 28-Aug-2014

Profile Requested By: hsenkler

Report Run Date: 28-Aug-2017

#### Contents

Section 1 - Carrier Information	2
Section 2 - Profile Scores as of Aug 2014	3
Section 3 - Active Fleet from 28-Aug-2011 to 28-Aug-2014	4
Section 4 - Contraventions	5
Section 4.1 - Driver Contraventions (Guilty)	6
Section 4.2 - Carrier Contraventions (Guilty)	7
Section 4.3 - Pending Driver Contraventions	
Section 4.4 - Pending Carrier Contraventions	ć
Section 5 - CVSA Inspection Results	10
Section 6 - Accident Information	13
Section 7 - Audit Summary	14
Section 8 - CVIP Vehicle Inspection History	15

#### **NSC Carrier Profile**

The Carrier Profile is a measurement of a carrier's on-road performance and is comprised of a carrier's demographic information, accident records, contraventions, and vehicle inspections.

On-road performance is measured in the following ways:

- · Contraventions: The number and types of violation tickets that have been deemed guilty;
- CVSA (Out of Service): Roadside CVSA vehicle inspections that put a power unit, trailer or driver out-of-service;
- · Accidents: The number and types of accidents where the driver was found at fault or fault unknown;
- · Total: Sum of accidents, out-of-service CVSA inspections and contraventions.

Profile scores are compared to the provincial median for cariers with the same or similar fleet size.

- · Average Fleet Size: Calculated for a 12 month period by dividing the Total Active Vehicle Days by the Active Monthly Days.
  - Total Active Vehicle Days: Calculated by adding the number of days each vehicle was operating under the NSC certificate for the
    previous 12 months. For example, if a carrier only had ten vehicles operating from January 1 to February 2, the Total Active Vehicle
    Days would be 330 days.
  - Active Monthly Days: Calculated by adding the number of days in each month that the carrier had an active vehicle. For example, if a
    carrier only had ten vehicles operating from January 1 to February 2, the Active Monthly Days would be 59 days and the Average
    Fleet Size would be 5.59
- Risk Band: Carriers are divided into 7 risk bands based on their fleet size.
- **Provincial Median:** Calculated on an annual basis for each risk band and each category (Contraventions, CVSA, Accidents, Total) based on carriers who have accumulated points in a category.

Please report any items believed to be in error to the NSC Program Office by mail, fax, or email. The NSC program office will investigate and, where applicable, make the necessary corrections as promptly as possible.

Mail: NSC Program Office, CVSE: Fax: (250) 952-0578 Email: NSC@gov.bc.ca

PO Box 9250 Stn Prov Govt Victoria, BC V8W 9J2

### **Section 1 - Carrier Information**

### **Demographic Information:**

Carrier Name: HJS TANK LINES LTD.

Jurisdiction: BC Primary Types of Business:

Certficate Issue Date: 05-Nov-2012 Extra-Provincial: Yes
Carrier Mailing Address: 24851 84 AVE Premium Carrier: No

LANGLEY BC V1M 3P4 Weigh2GoBC: No

Preventative Maintenance: No

Number of Currently Licensed Vehicles: 15

#### **Certificate Information:**

Certificate Status: Active

Safety Rating: Satisfactory - Unaudited

Profile Status: Satisfactory
Audit Status: Unaudited

Compliance Review:

#### Current Profile Scores as of 31-Aug-2014:

	Average Fleet Size	Contraventions	CVSA (Out of Service)	Accidents	Total
HJS TANK LINES LTD.	14.64	0.14	0.00	0.14	0.28

The carrier's profile status is set based on the score ranges listed below. If scores in all areas are in the Satisfactory range, the carrier's profile status will be Satisfactory. If any score is in the Conditional range, the carrier's profile status will be Conditional. If any score is in the Unsatisfactory range, the carrier's profile status will be Unsatisfactory.

Profile Status	Contraventions	CVSA (Out of Service)	Accidents	Total
Satisfactory	0.00 - 3.59	0.00 - 1.93	0.00 - 1.72	0.00 - 5.32
Conditional	3.60 - 9.59	1.94 - 4.43	1.73 - 3.22	5.33 - 10.82
Unsatisfactory	9.60 and above	4.44 and above	3.23 and above	10.83 and above

#### **NSC Interventions:**

During the past 37 months, the carrier has not been subject to any interventions.

Triggered interventions occur due to the carrier's profile scores exceeding the thresholds set by the NSC program Office in any one of the four categories.

Section 1 - Carrier Information Page 2

# Section 2 - Profile Scores as of Aug 2014

This section lists the carrier's profile scores each month for the past 37 months.

Month	Total Active Vehicle Days	Active Monthly Days	Average Fleet Size	Contraventions Score	CVSA Score	Accident Score	Total Score
2014-08	5342	365	14.64	0.14	0.00	0.14	0.28
2014-07	5274	365	14.45	0.14	0.00	0.14	0.28
2014-06	5212	365	14.28	0.14	0.00	0.14	0.28
2014-05	5144	365	14.09	0.14	0.00	0.14	0.28
2014-04	5065	365	13.88	0.14	0.00	0.14	0.28
2014-03	5005	365	13.71	0.15	0.22	0.15	0.52
2014-02	4926	365	13.50	0.15	0.22	0.44	0.81
2014-01	4893	365	13.41	0.15	0.22	0.45	0.82
2013-12	4857	365	13.31	0.00	0.23	0.30	0.53
2013-11	4826	365	13.22	0.00	0.23	0.30	0.53
2013-10	4690	365	12.85	0.00	0.23	0.31	0.54
2013-09	4287	334	12.84	0.00	0.23	0.31	0.54
2013-08	3897	304	12.82	0.00	0.23	0.31	0.54
2013-07	3494	273	12.80	0.00	0.23	0.31	0.54
2013-06	3060	242	12.64	0.00	0.24	0.32	0.56
2013-05	2640	212	12.45	0.00	0.24	0.32	0.56
2013-04	2206	181	12.19	0.00	0.25	0.33	0.58
2013-03	1786	151	11.83	0.00	0.00	0.34	0.34
2013-02	1369	120	11.41	0.00	0.00	0.00	0.00
2013-01	1005	92	10.92	0.00	0.00	0.00	0.00
2012-12	626	61	10.26	0.00	0.00	0.00	0.00
2012-11	254	30	8.47	0.00	0.00	0.00	0.00
2012-10	0	0	0	0.00	0.00	0.00	0.00
2012-09	0	0	0	0.00	0.00	0.00	0.00
2012-08	0	0	0	0.00	0.00	0.00	0.00
2012-07	0	0	0	0.00	0.00	0.00	0.00
2012-06	0	0	0	0.00	0.00	0.00	0.00
2012-05	0	0	0	0.00	0.00	0.00	0.00
2012-04	0	0	0	0.00	0.00	0.00	0.00
2012-03	0	0	0	0.00	0.00	0.00	0.00
2012-02	0	0	0	0.00	0.00	0.00	0.00
2012-01	0	0	0	0.00	0.00	0.00	0.00
2011-12	0	0	0	0.00	0.00	0.00	0.00
2011-11	0	0	0	0.00	0.00	0.00	0.00
2011-10	0	0	0	0.00	0.00	0.00	0.00
2011-09	0	0	0	0.00	0.00	0.00	0.00
2011-08	0	0	0	0.00	0.00	0.00	0.00

## Section 3 - Active Fleet from 28-Aug-2011 to 28-Aug-2014

This section identifies all commercial vehicles operating under this Safety Certificate during the requested report period.

Regi#	Plate #	Year	Make	Owner Name	GVW
s.15	12292P	2007	PETERBILT	HJS TANK LINES LTD	63500
		2008	PETERBILT		
	18444P	1994	KENWORTH	HJS TANK LINES LTD	63500
	12288P	2001	WESTERN ST	HJS TANK LINES LTD	63500
	12290P	2009	PETERBILT	HJS TANK LINES LTD	63500
	11662P	2006	PETERBILT	HJS TANK LINES LTD	63500
		2006	KENWORTH		
	11659P	1997	PETERBILT	HJS TANK LINES LTD	63500
		2009	PETERBILT		
		2010	KENWORTH		
		2008	PETERBILT		
		2010	PETERBILT		
		2005	PETERBILT		
		2012	PETERBILT		
		2006	PETERBILT		
	12634P	2005	WESTERN ST	HJS TANK LINES LTD	63500
		2007	WESTERN ST		
		2007	KENWORTH		
		2015	KENWORTH		
		2014	WESTERN ST		
		2014	PETERBILT		

#### **Section 4 - Contraventions**

This section lists all violation tickets issued to the carrier or to drivers operating vehicles under the carrier's safety certificate during the requested time period.

NSC points are only assigned to violations where the carrier or driver has been deemed guilty. These points remain on the carrier's profile for 12 months from the disposition date (when the carrier or driver was deemed guilty) and not the violation date (when the violation ticket was issued). Active points are only displayed for contraventions that impact the carrier's profile scores. Further information regarding how points are assigned to each type of violation is available on the CVSE website.

The violation ticket details listed below are divided into the following sections:

Section 4.1 - Driver Contraventions (Guilty) Section 4.2 - Carrier Contraventions (Guilty) Section 4.3 - Pending Driver Contraventions Section 4.4 - Pending Carrier Contraventions

### **Summary**

Group Description and Equivalency Codes	Number of Violations in last 12 months	Percentage of Violations	Number of Active Points	Percentage of Total Active Points
Speeding (0001-0099)				
Stop Signs and Traffic Lights (0100-0199)				
Driver's Liabilities (0200-0299)				
Driving (0300-0399)				
Hours of Service (0400-0499)	1	100.00%	2	100.00%
Trip Inspection (0500-0599)				
Mechanical Defects (0600-0699)				
Oversize & Overweight (0700-0799)				
Security of Loads (0900-0999)				
Dangerous Goods (1000)				
Criminal Code (1100-1199)				
Miscellaneous (1200-1299)				
Totals	1	100.00%	2	100.00%

## Section 4.1 - Driver Contraventions (Guilty)

This section lists all violation tickets issued and deemed guilty for drivers operating under the carrier's safety certificate during the requested time period. Contraventions are sorted alphabetically by driver name and are listed by violation date beginning with the most recent contravention.

NSC Points are assigned for 12 months from the disposition date. Active points are only displayed for contraventions that impact the carrier's profile scores.

#### **Details**

s.22		D	L#/Jur: s.22	Class:	Stat	us:
Violation Date s.22	Time	<i>Ticket #</i> AH750285321	<i>Plate/Jur</i> 12292P BC	Location s.22	Jurisdiction	Disposition Date 2014-01-14
<i>Act</i> MVR	Section 37.18011	Description FAIL TO FILL OUT D	AILY LOG		Equiv Code 0401	Active Points 2

## Section 4.2 - Carrier Contraventions (Guilty)

This section lists all violation tickets issued to the carrier and deemed guilty during the requested time period. Contraventions are listed in date order by violation date begining with the most recent contravention.

NSC Points are assigned for 12 months from the disposition date. Active points are only displayed for contraventions that impact the carrier's profile scores.

There are no contraventions to report for this section.

# Section 4.3 - Driver Contraventions ( Pending)

This section lists all pending violations issued in BC to drivers operating under the carrier's safety certificate. These violations are in dispute and have not been deemed guilty or cancelled. NSC points are not assigned to a violation ticket until it has been deemed guilty.

Contraventions are sorted alphabetically by driver name and are listed by violation date beginning with the most recent contravention.

There are no contraventions to report for this section.

## Section 4.4 - Carrier Contraventions ( Pending)

This section lists all pending violations issued in BC to the carrier. These violations are in dispute and have not been deemed guilty or cancelled. NSC points are not assigned to a violation ticket until it has been deemed guilty.

Contraventions are listed in date order by violation date beginning with the most recent contravention.

There are no contraventions to report for this section.

## Section 5 - CVSA Inspection Results

This section lists all roadside CVSA and school bus inspections performed on commercial vehicles operating under this safety certificate during the requested time period.

If the overall inspection result is Out of Service (OOS), the inspection is assigned 3 NSC points which are valid for 1 year from the inspection Date. Active points are only displayed for inspections that impact the carrier's profile scores.

CVSA levels and defect descriptions can be found on the last page of this section.

#### **CVSA Inspection Levels**

Level	Description
1	Full Inspection (Vehicle & Driver)
2	Walk Around Inspection
3	Driver Only Inspection
4	Special Inspection
5	Vehicle Only Inspection
6	Enhanced - Radioactive
7	Other Provincial
С	School Bus - Complete
R	School Bus - Re-Inspection

#### Summary

Inspection Type	Number of Inspections in the Past 12 Months	Out of Service (OOS)	Violations Present (Fail)	Pass
Driver/Vehicle Inspections	1	0	1	0
Vehicle Only Inspections	1	0	1	0
Driver Only Inspections	1	0	0	1
Total Inspections	3	0	2	1

CVSA Defect Type	oos	% of Defects	Fail	% of Defects	<b>Total Defects</b>	% of Total
40 - Driver			2	50.00	2	50.00
41 - Lighting Devices						
42 - Windhield, Wipers						
43 - Steering						
44 - Braking System			1	25.00	1	25.00
45 - Brake Adjustment			1	25.00	1	25.00
46 - Suspension						
47 - Tires, Wheels, Rims						
48 - Fuel System						
49 - Exhaust System						
50 - Coupling Devices						
51 - Body, Frame						
52 - Load Security						
53 - Emergency Exits						
54 - Dangerous Goods						
55 - Miscellaneous						
Total Defects	0	0.00	4	100.00	4	100.00

#### **Details**

			-				
Inspection Date s.22	Time	Document # 8369761	Location s.22	Jur	<i>Level</i> 1	<i>Result</i> Fail	Active Points
Driver Name			DL#/Jur				
s.22			s.22				
Vehicle	Plate/Jur	Regi #	Vehicle Desc	Result	Inspectio	n Item Defect	
Power Unit	11662P BC	s.15	PETERBILT	Fail	40		
Trailer 1	4LD382 AB		TREMCAR	Fail	44		
Trailer 2	4LD383 AB		TREMCAR	Fail	45		
Inspection Date s.22	Time	Document # 0749335	Location s.22	Jur	Level 3	<i>Result</i> Pass	Active Points
Driver Name			DL#/Jur				
s.22			s.22				
Vehicle	Plate/Jur	Regi #	Vehicle Desc	Result	Inspectio	n Item Defect	
Power Unit	12294P BC	s.15		Pass	,		
Semi-Trailer	4LD375 AB	5.15		Pass			
Inspection Date	Time	Document #	Location	Jur	Level	Result	Active Points
s.22		8257130	s.22		4	Fail	
Driver Name			DL#/Jur				
s.22			s.22،				
Vehicle	Plate/Jur	Reai #	Vehicle Desc	Result	Inspectio	n Item Defect	
Power Unit	12292P BC	s.15	PETERBILT	Fail	40		
Trailer 1	4LD362 AB		TREMCAR	Pass			
Inspection Date	Time	Document # 8204580	Location s.22	Jur	Level	<i>Result</i> Pass	Active Points
Driver Name			DL#/Jur				
s.22			s.22				
Vehicle	Plate/Jur	Regi #	Vehicle Desc	Result	Inspectio	n Item Defect	
Power Unit	12288P BC	s.15	WESTERN ST	Pass	-		
Trailer 1	4LD362 AB		TREMCAR	Pass			
Inspection Date	Time	Document #	Location	Jur	Level	Result	Active Points
s.22	-	0190092	s.22		2	Fail	
Driver Name			DL#/Jur				
s.22			s.22				
	Plate/Jur	Reai #		Result	Inspectio	n Item Defect	
		3.10			40		
					44		
Vehicle Power Unit Semi-Trailer Semi-Trailer	Plate/Jur 12294P BC W95248 AB X83711 AB	Regi# s.15	Vehicle Desc	<i>Result</i> Fail Pass Fail	Inspectio 40 41	n Item Defect	

Inspection Date	Time	Document #	Location	Jur	Level	Result	Active Points
s.22		0189308	s.22		3	Fail	
Driver Name			DL#/Jur				
s.22			s.22				
Vehicle	Plate/Jur	Regi #	Vehicle Desc	Result	Inspectio	n Item Defect	
Power Unit	12293P BC	s.15		Fail	40		
Semi-Trailer	W95248 AB			Pass			
Semi-Trailer	X83711 AB			Pass			
Inspection Date	Time	Document #	Location	Jur	Level	Result	Active Points
s.22		0718273	s.22		1	Pass	
Driver Name			DL#/Jur				
s.22			s.22				
Vehicle	Plate/Jur	Regi #	Vehicle Desc	Result	Inspectio	n Item Defect	
Power Unit	12289P BC	s.15		Pass			
Inspection Date	Time	Document #	Location	Jur	Level	Result	Active Points
s.22		0700034	s.22		3	oos	
Driver Name			DL#/Jur				
s.22			s.22				
Vehicle	Plate/Jur	Regi #	Vehicle Desc	Result	Inspectio	n Item Defect	
Power Unit	12288P BC	s.15		oos	54		
Semi-Trailer	4LD378 AB			Pass			
Semi-Trailer	4LD379 AB			Pass			

#### **Section 6 - Accident Information**

This section lists all police-reported accidents involving commercial vehicles operating under this safety certificate during the requested time period.

NSC points are assigned to accidents where the driver was 50% or more at fault, or if fault is unknown. The number of points assigned is based on the accident type. NSC points are valid for 1 year from the Accident Date. Active points are only displayed for accidents that impact the carrier's profile scores.

### Summary

Accident Type	Number of Accidents in last 12 months	At Fault	Fault Unknown	Not at Fault	Active Points
Fatality	0	0	0	0	0
Injury	0	0	0	0	0
Property	1	0	1	0	2
Total Accidents	1	0	1	0	2

#### **Details**

Accident Date s.22 Driver Name s.22	Time	Report # 0775846	Location s.22 DL#/Jur s.22	Jur	<i>Type</i> Property	<i>Fault</i> Unknown	Active Points 2
Plate/Jur		Regi #	Vehicle Desc	Charge	es Laid		
12297P BC		s.15	PETERBUILTTRACTOR	No			
Accident Date s.22	Time	Report # 0725104	Location s.22	Jur	<i>Type</i> Injury	<i>Fault</i> Unknown	Active Points
Driver Name			DL#/Jur				
s.22			s.22				
Plate/Jur		Regi #	Vehicle Desc	Charge	es Laid		
12293P BC		s.15	PETERBILT TRACTOR	No			

Section 6 - Accident Information Page 13

# Section 7 - Audit Summary

This section summarizes the quantifiable facility audits that have been conducted on this carrier during the requested time period. Compliance Reviews are not included in this summary.

As of June 1, 2015, NSC implemented a new set of questions and scoring criteria for quantifiable facility audits.

No Audits conducted for this carrier during the report period.

Section 7 - Audit Summary Page 14

NSC #: 202-033-021 HJS TANK LINES LTD.

### Section 8 - CVIP Vehicle Inspection History

This section lists all commercial vehicle inspections (CVIP) conducted on and all outstanding Notice & Orders (N&O Box 1 or Box 2) issued to vehicles operating under the safety certificate during the requested period. CVIP inspections and Notice & Orders are listed for informational purposes only. NSC points are not assigned based on inspection results.

If vehicles are regularly failing CVIP inspections, NSC recommends that the carrier review their vehicle maintenance and trip inspection programs to ensure that defects are being resolved in a timely manner and vehicles are being properly maintained throughout the year.

Regi # <sub>S.</sub> 15		Plate: HW7820		2010 PETERBIL	Г	
Date	Туре	Facility #	Confirmation #	Decal #	Expiry Date	Result
2014-04-09	CVIP	S5927	9519266	EP55000	2014-10-31	Pass
2013-12-13	CVIP	S5927	9283228	EN50223	2014-06-30	Pass
2013-09-13	CVIP	S5927	9118904	EM53697	2014-03-31	Pass
2013-04-05	CVIP	S5927	8867456	EL25148	2013-10-31	Pass
2013-01-29	CVIP	S5927	8784138	EL10625	2013-07-31	Pass
2012-05-23	CVIP	S5927	8507875	EJ77109	2012-11-30	Pass
2011-12-12	CVIP	S5927	8334757	EH32860	2012-06-30	Pass

Regi #: S.15		Plate: 27627P	2012 PETERBILT			
Date	Туре	Facility #	Confirmation #	Decal #	Expiry Date	Result
2012-05-18	CVIP	S0465	8503151	EJ68831	2012-11-30	Pass

# **Carrier Profile Report**

HJS TANK LINES LTD. NSC #: 202-033-021

Profile Start Date: 28-Aug-2014

Profile End Date: 28-Aug-2017

Profile Requested By: hsenkler

Report Run Date: 28-Aug-2017

#### Contents

Section 1 - Carrier Information	
Section 2 - Profile Scores as of Jul 2017	3
Section 3 - Active Fleet from 28-Aug-2014 to 28-Aug-2017	4
Section 4 - Contraventions	
Section 4.1 - Driver Contraventions (Guilty)	6
Section 4.2 - Carrier Contraventions (Guilty)	7
Section 4.3 - Pending Driver Contraventions	8
Section 4.4 - Pending Carrier Contraventions	
Section 5 - CVSA Inspection Results	10
Section 6 - Accident Information	13
Section 7 - Audit Summary	15
Section 8 - CVIP Vehicle Inspection History	16

#### **NSC Carrier Profile**

The Carrier Profile is a measurement of a carrier's on-road performance and is comprised of a carrier's demographic information, accident records, contraventions, and vehicle inspections.

On-road performance is measured in the following ways:

- · Contraventions: The number and types of violation tickets that have been deemed guilty;
- CVSA (Out of Service): Roadside CVSA vehicle inspections that put a power unit, trailer or driver out-of-service;
- · Accidents: The number and types of accidents where the driver was found at fault or fault unknown;
- · Total: Sum of accidents, out-of-service CVSA inspections and contraventions.

Profile scores are compared to the provincial median for cariers with the same or similar fleet size.

- · Average Fleet Size: Calculated for a 12 month period by dividing the Total Active Vehicle Days by the Active Monthly Days.
  - Total Active Vehicle Days: Calculated by adding the number of days each vehicle was operating under the NSC certificate for the
    previous 12 months. For example, if a carrier only had ten vehicles operating from January 1 to February 2, the Total Active Vehicle
    Days would be 330 days.
  - Active Monthly Days: Calculated by adding the number of days in each month that the carrier had an active vehicle. For example, if a
    carrier only had ten vehicles operating from January 1 to February 2, the Active Monthly Days would be 59 days and the Average
    Fleet Size would be 5.59
- Risk Band: Carriers are divided into 7 risk bands based on their fleet size.
- **Provincial Median:** Calculated on an annual basis for each risk band and each category (Contraventions, CVSA, Accidents, Total) based on carriers who have accumulated points in a category.

Please report any items believed to be in error to the NSC Program Office by mail, fax, or email. The NSC program office will investigate and, where applicable, make the necessary corrections as promptly as possible.

Mail: NSC Program Office, CVSE: Fax: (250) 952-0578 Email: NSC@gov.bc.ca

PO Box 9250 Stn Prov Govt Victoria, BC V8W 9J2

#### Section 1 - Carrier Information

### **Demographic Information:**

Carrier Name: HJS TANK LINES LTD.

Jurisdiction: BC

Certficate Issue Date: 05-Nov-2012
Carrier Mailing Address: 24851 84 AVE

LANGLEY BC V1M 3P4 Weigh2GoBC: No

Preventative Maintenance: No

Yes

No

Primary Types of Business:

Extra-Provincial:

Premium Carrier:

Number of Currently Licensed Vehicles: 15

#### **Certificate Information:**

Certificate Status: Active

Safety Rating: Satisfactory - Unaudited

Profile Status: Satisfactory
Audit Status: Unaudited

Compliance Review:

#### Current Profile Scores as of 31-Jul-2017:

	Average Fleet Size	Contraventions	CVSA (Out of Service)	Accidents	Total
HJS TANK LINES LTD.	14.42	0.21	0.42	0.28	0.91

The carrier's profile status is set based on the score ranges listed below. If scores in all areas are in the Satisfactory range, the carrier's profile status will be Satisfactory. If any score is in the Conditional range, the carrier's profile status will be Conditional. If any score is in the Unsatisfactory range, the carrier's profile status will be Unsatisfactory.

Profile Status	Contraventions	CVSA (Out of Service)	Accidents	Total
Satisfactory	0.00 - 2.05	0.00 - 1.83	0.00 - 0.48	0.00 - 3.03
Conditional	2.06 - 2.67	1.84 - 2.19	0.49 - 0.62	3.04 - 3.70
Unsatisfactory	2.68 and above	2.20 and above	0.63 and above	3.71 and above

#### **NSC Interventions:**

During the past 37 months, the carrier has been subject to the following interventions:

Intervention TypeDateSafety Plan Self-Assessment - Triggered01-Feb-2017Warning Letter - Triggered01-Jan-2017

Triggered interventions occur due to the carrier's profile scores exceeding the thresholds set by the NSC program Office in any one of the four categories.

Section 1 - Carrier Information Page 2

## Section 2 - Profile Scores as of Jul 2017

This section lists the carrier's profile scores each month for the past 36 months.

Month	Total Active Vehicle Days	Active Monthly Days	Average Fleet Size	Contraventions Score	CVSA Score	Accident Score	Total Score
2017-07	5263	365	14.42	0.21	0.42	0.28	0.91
2017-06	5252	365	14.39	0.21	0.42	0.42	1.05
2017-05	5246	365	14.37	0.21	0.42	0.28	0.91
2017-04	5218	365	14.30	0.21	0.21	0.42	0.84
2017-03	5218	365	14.30	0.21	0.21	0.42	0.84
2017-02	5250	365	14.38	0.21	0.21	0.42	0.84
2017-01	5295	366	14.47	0.21	0.21	0.41	0.83
2016-12	5327	366	14.55	0.21	0.21	0.41	0.83
2016-11	5339	366	14.59	0.00	0.21	0.41	0.62
2016-10	5369	366	14.67	0.00	0.20	0.41	0.61
2016-09	5400	366	14.75	0.00	0.20	0.41	0.61
2016-08	5452	366	14.90	0.00	0.00	0.27	0.27
2016-07	5525	366	15.10	0.00	0.00	0.26	0.26
2016-06	5597	366	15.29	0.00	0.00	0.13	0.13
2016-05	5659	366	15.46	0.00	0.00	0.13	0.13
2016-04	5749	366	15.71	0.00	0.00	0.13	0.13
2016-03	5809	366	15.87	0.00	0.00	0.13	0.13
2016-02	5870	366	16.04	0.25	0.00	0.12	0.37
2016-01	5911	365	16.19	0.25	0.00	0.12	0.37
2015-12	5973	365	16.36	0.24	0.00	0.12	0.36
2015-11	6004	365	16.45	0.24	0.00	0.12	0.36
2015-10	6034	365	16.53	0.24	0.00	0.24	0.48
2015-09	6065	365	16.62	0.24	0.00	0.24	0.48
2015-08	6051	365	16.58	0.24	0.00	0.24	0.48
2015-07	6015	365	16.48	0.24	0.00	0.24	0.48
2015-06	5974	365	16.37	0.24	0.00	0.24	0.48
2015-05	5952	365	16.31	0.25	0.00	0.25	0.50
2015-04	5938	365	16.27	0.25	0.00	0.12	0.37
2015-03	5908	365	16.19	0.25	0.00	0.12	0.37
2015-02	5877	365	16.10	0.00	0.00	0.12	0.12
2015-01	5798	365	15.88	0.00	0.00	0.13	0.13
2014-12	5686	365	15.58	0.13	0.00	0.26	0.39
2014-11	5593	365	15.32	0.13	0.00	0.26	0.39
2014-10	5503	365	15.08	0.13	0.00	0.13	0.26
2014-09	5410	365	14.82	0.13	0.00	0.13	0.26
2014-08	5342	365	14.64	0.14	0.00	0.14	0.28
	_	_	_			_	_

# Section 3 - Active Fleet from 28-Aug-2014 to 28-Aug-2017

This section identifies all commercial vehicles operating under this Safety Certificate during the requested report period.

Rea <u>i</u> #	Plate #	Year	Make	Owner Name	GVW
s.15 <sup>–</sup>	12292P	2007	PETERBILT	HJS TANK LINES LTD	63500
_		2008	PETERBILT		
_	18444P	1994	KENWORTH	HJS TANK LINES LTD	63500
_	31456P	2001	WESTERN ST	HJS TANK LINES LTD	63500
_	30149P	2009	PETERBILT	HJS TANK LINES LTD	63500
_	11662P	2006	PETERBILT	HJS TANK LINES LTD	63500
_		2006	KENWORTH		
_		2006	PETERBILT	HJS TANK LINES LTD	63500
_	11659P	1997	PETERBILT	HJS TANK LINES LTD	63500
		2009	PETERBILT		
_		2009	KENWORTH		
_		2008	PETERBILT		
_		2012	PETERBILT		
		2006	PETERBILT		
	12634P	2005	WESTERN ST	HJS TANK LINES LTD	63500
_		2014	WESTERN ST	HJS TANK LINES LTD	63500
		2007	KENWORTH		
		2015	KENWORTH		
		2014	WESTERN ST		
_	12291P	2015	PETERBILT	HJS TANK LINES LTD	63500
		2014	PETERBILT		
	21737P	2003	KENWORTH	HJS TANK LINES LTD	63500
		2015	PETERBILT		
		1998	PETERBILT		
	18422P	2016	PETERBILT	HJS TANK LINES LTD	63500
	34522P	2014	PETERBILT	ECN FINANCIAL INC (LESSOR)	63500
_	34527P	2015	PETERBILT	HJS TANK LINES LTD	63500
		2008	PETERBILT		
_	36467P	2011	KENWORTH	HJS TANK LINES LTD	63500

#### **Section 4 - Contraventions**

This section lists all violation tickets issued to the carrier or to drivers operating vehicles under the carrier's safety certificate during the requested time period.

NSC points are only assigned to violations where the carrier or driver has been deemed guilty. These points remain on the carrier's profile for 12 months from the disposition date (when the carrier or driver was deemed guilty) and not the violation date (when the violation ticket was issued). Active points are only displayed for contraventions that impact the carrier's profile scores. Further information regarding how points are assigned to each type of violation is available on the CVSE website.

The violation ticket details listed below are divided into the following sections:

Section 4.1 - Driver Contraventions (Guilty) Section 4.2 - Carrier Contraventions (Guilty) Section 4.3 - Pending Driver Contraventions Section 4.4 - Pending Carrier Contraventions

### Summary

Group Description and Equivalency Codes	Number of Violations in last 12 months	Percentage of Violations	Number of Active Points	Percentage of Total Active Points
Speeding (0001-0099)				
Stop Signs and Traffic Lights (0100-0199)				
Driver's Liabilities (0200-0299)				
Driving (0300-0399)				
Hours of Service (0400-0499)				
Trip Inspection (0500-0599)				
Mechanical Defects (0600-0699)	1	100.00%	3	100.00%
Oversize & Overweight (0700-0799)				
Security of Loads (0900-0999)				
Dangerous Goods (1000)				
Criminal Code (1100-1199)				
Miscellaneous (1200-1299)				
Totals	1	100.00%	3	100.00%

# Section 4.1 - Driver Contraventions (Guilty)

This section lists all violation tickets issued and deemed guilty for drivers operating under the carrier's safety certificate during the requested time period. Contraventions are sorted alphabetically by driver name and are listed by violation date beginning with the most recent contravention.

NSC Points are assigned for 12 months from the disposition date. Active points are only displayed for contraventions that impact the carrier's profile scores.

#### **Details**

s.22			DL#/Jur: s.22	Class:	Stat	us:
Violation Date s.22	Time	Ticket # 0822933	<i>Plate/Jur</i> 12292P BC	Location s.22	Jurisdiction	Disposition Date 2015-03-25
Act	Section	Description			Equiv Code	Active Points
	304/0242(5)	F/T STOP UNCONT	RWY-XING		0112	
Violation Date	Time	Ticket #	Plate/Jur	Location	Jurisdiction	Disposition Date
s.22		0823984	12292P BC	s.22		2015-03-31
Act	Section	Description			Equiv Code	Active Points
	121/094(1)	OPER OR PERMIT SCHEDULE 1	PERSON TO OPER COMM V	EH NOT COMPLY	0620	
s.22			DL#/Jur: s.22	Class:	Stat	us:
Violation Date	Time	Ticket #	Plate/Jur	Location	Jurisdiction	Disposition Date
s.22		0940511	18444P BC	s.22		2016-12-13
Act	Section	Description			Equiv Code	Active Points
	121/092,14(A )(I)	HOSES/TUBES/CO	NNECTION IN AIR BRAKE SY	STEM DEFECTIVE.	0601	3

## Section 4.2 - Carrier Contraventions (Guilty)

This section lists all violation tickets issued to the carrier and deemed guilty during the requested time period. Contraventions are listed in date order by violation date begining with the most recent contravention.

NSC Points are assigned for 12 months from the disposition date. Active points are only displayed for contraventions that impact the carrier's profile scores.

There are no contraventions to report for this section.

# Section 4.3 - Driver Contraventions ( Pending)

This section lists all pending violations issued in BC to drivers operating under the carrier's safety certificate. These violations are in dispute and have not been deemed guilty or cancelled. NSC points are not assigned to a violation ticket until it has been deemed guilty.

Contraventions are sorted alphabetically by driver name and are listed by violation date beginning with the most recent contravention.

There are no contraventions to report for this section.

## Section 4.4 - Carrier Contraventions ( Pending)

This section lists all pending violations issued in BC to the carrier. These violations are in dispute and have not been deemed guilty or cancelled. NSC points are not assigned to a violation ticket until it has been deemed guilty.

Contraventions are listed in date order by violation date beginning with the most recent contravention.

There are no contraventions to report for this section.

## Section 5 - CVSA Inspection Results

This section lists all roadside CVSA and school bus inspections performed on commercial vehicles operating under this safety certificate during the requested time period.

If the overall inspection result is Out of Service (OOS), the inspection is assigned 3 NSC points which are valid for 1 year from the inspection Date. Active points are only displayed for inspections that impact the carrier's profile scores.

CVSA levels and defect descriptions can be found on the last page of this section.

#### **CVSA Inspection Levels**

Level	Description
1	Full Inspection (Vehicle & Driver)
2	Walk Around Inspection
3	Driver Only Inspection
4	Special Inspection
5	Vehicle Only Inspection
6	Enhanced - Radioactive
7	Other Provincial
С	School Bus - Complete
R	School Bus - Re-Inspection

### Summary

Inspection Type	Number of Inspections in the Past 12 Months	Out of Service (OOS)	Violations Present (Fail)	Pass
Driver/Vehicle Inspections	4	2	1	1
Vehicle Only Inspections	0	0	0	0
Driver Only Inspections	0	0	0	0
Total Inspections	4	2	1	1

CVSA Defect Type	oos	% of Defects	Fail	% of Defects	Total Defects	% of Total
40 - Driver						
41 - Lighting Devices			2	33.33	2	33.33
42 - Windhield, Wipers			1	16.67	1	16.67
43 - Steering						
44 - Braking System	1	16.67			1	16.67
45 - Brake Adjustment						
46 - Suspension	1	16.67			1	16.67
47 - Tires, Wheels, Rims						
48 - Fuel System						
49 - Exhaust System						
50 - Coupling Devices						
51 - Body, Frame						
52 - Load Security	1	16.67			1	16.67
53 - Emergency Exits						
54 - Dangerous Goods						
55 - Miscellaneous						
Total Defects	3	50.00	3	50.00	6	100.00

#### **Details**

Inspection Date s.22	Time	Document # 8535939	Location s.22	Jur	<i>Level</i> 1	<i>Result</i> Fail	Active Points
Driver Name			DL#/Jur		·		
5.22			s.22				
Vehicle	Plate/Jur	Regi #	Vehicle Desc	Result	-	n Item Defect	
Power Unit	17623P BC	s.15	PETERBILT	Fail	41,42		
Trailer 1	W60867 AB		MANAC	Fail	41		
Inspection Date	Time	Document #	Location	Jur	Level	Result	Active Points
s.22	1	0967914	s.22		1	Pass	
Driver Name			DL#/Jur				
.22			s.22				
Vehicle	Plate/Jur	Regi #	Vehicle Desc	Result	Inspection	n Item Defect	
Power Unit	11659P BC	s.15	PETERBILT	Pass			
Inspection Date	Time	Document #	Location	Jur	Level	Result	Active Points
s.22		0967915	s.22		1	oos	3
Driver Name			DL#/Jur				
s.22			s.22				
Vehicle	Plate/Jur	Regi #	Vehicle Desc	Result	Inspection	n Item Defect	
Power Unit	11659P BC	s.15	PETERBILT	oos	46		
Inspection Date	Time	Document #	Location	Jur	Level	Result	Active Points
s.22		0921311	s.22		1	oos	3
Driver Name			DL#/Jur				
s.22			s.22				
Vehicle	Plate/Jur	Regi #	Vehicle Desc	Result	Inspection	n Item Defect	
Power Unit	18444P BC	s.15	KENWORTH CONSTRUCT	oos	44,52		
Semi-Trailer	4LD378 AB		TREMCAR	Pass			
Semi-Trailer	4LD379 AB		TREMCAR	Pass			
Inspection Date	Time	Document #	Location	Jur	Level	Result	Active Points
s.22		8486745	s.22		1	Fail	
Driver Name			DL#/Jur				
s.22			s.22				
Vehicle	Plate/Jur	Regi #	Vehicle Desc	Result	Inspection	n Item Defect	
Power Unit	11662P BC	s.15	PETERBILT	Pass			
Trailer 2	4LD366 AB		BRENNER	Pass			
Trailer 1	4LD365 AB		POLAR	Fail	44		
Inspection Date	Time	Document #	Location	Jur	Level	Result	Active Points
s.22		0871667	s.22		1	Fail	
Driver Name			DL#/Jur				
s.22			s.22				
	District 1	Regi #	Vehicle Desc	Result	Inspection	n Item Defect	
Vehicle	Plate/Jur	negr#					
<i>Vehicle</i> Power Unit	Plate/Jur 11659P BC	s.15	PETERBUILT	Fail	44		

Inspection Date s.22	Time	Document # 0832534	Location s.22	Jur	<i>Level</i> 1	<i>Result</i> Pass	Active Points
Driver Name			DL#/Jur				
.22			s.22				
Vehicle	Plate/Jur	Regi #	Vehicle Desc	Result	Inspectio	n Item Defect	
Power Unit	12291P BC	s.15	PETERBILT	Pass			
Semi-Trailer	4LD372 AB		BRENNER	Pass			
Semi-Trailer	4LD373 AB		STE	Pass			
Inspection Date	Time	Document #	Location	Jur	Level	Result	Active Points
s.22		8440484	s.22		2	Pass	
Driver Name			DL#/Jur				
s.22			s.22				
Vehicle	Plate/Jur	Regi #	Vehicle Desc	Result	Inspectio	n Item Defect	
Power Unit	18444P BC	s.15	KENWORTH	Pass			
Trailer 1	4LD382 AB		TREMCAR	Pass			
Trailer 2	4LD383 AB		TREMCAR	Pass			
Inspection Date	Time	Document #	Location	Jur	Level	Result	Active Points
s.22		2003615	s.22		2	Pass	
Driver Name			DL#/Jur				
s.22			s.22				
Vehicle	Plate/Jur	Regi #	Vehicle Desc	Result	Inspectio	n Item Defect	
Power Unit	17623P BC	s.15		Pass			
Semi-Trailer	S69611 AB			Pass			
Inspection Date	Time	Document #	Location	Jur	Level	Result	Active Points
s.22		8417404	s.22		2	Pass	
Driver Name			DL#/Jur				
s.22			s.22				
Vehicle	Plate/Jur	Regi #	Vehicle Desc	Result	Inspectio	n Item Defect	
Power Unit	12288P BC	s.15	WESTERN ST	Pass			
	4LD360 AB		BRENNER	Pass			

#### **Section 6 - Accident Information**

This section lists all police-reported accidents involving commercial vehicles operating under this safety certificate during the requested time period.

NSC points are assigned to accidents where the driver was 50% or more at fault, or if fault is unknown. The number of points assigned is based on the accident type. NSC points are valid for 1 year from the Accident Date. Active points are only displayed for accidents that impact the carrier's profile scores.

### Summary

Accident Type	Number of Accidents in last 12 months	At Fault	Fault Unknown	Not at Fault	Active Points
Fatality	0	0	0	0	0
Injury	0	0	0	0	0
Property	2	0	2	0	4
Total Accidents	2	0	2	0	4

#### **Details**

Accident Date s.22	Time	Report # 0973204	Location s.22	Jur	<i>Type</i> Property	<i>Fault</i> Unknown	Active Points 2
Driver Name			DL#/Jur		. ,		
s.22			s.22				
Plate/Jur		Regi #	Vehicle Desc	Charg	ies Laid		
11658P BC		s.15	PETERBILT TRACT	No			
Accident Date	Time	Report #	Location	Jur	Туре	Fault	Active Points
s.22		1013943	s.22		Property	Unknown	2
Driver Name			DL#/Jur				
s.22			s.22				
Plate/Jur		Regi #	Vehicle Desc	Charg	es Laid		
12291P BC		s.15	POWER UNIT	No			
Accident Date	Time	Report #	Location	Jur	Туре	Fault	Active Points
s.22		1013818	s.22		Property	Unknown	
Driver Name			DL#/Jur				
s.22			s.22				
Plate/Jur		Regi #	Vehicle Desc	Charg	es Laid		
11662P BC		s.15	POWER UNIT	No			
Accident Date	Time	Report #	Location	Jur	Туре	Fault	Active Points
s.22		0931429	s.22		Property	Unknown	
Driver Name			DL#/Jur				
			null null				
Plate/Jur		Regi #	Vehicle Desc	Charg	es Laid		
12634P BC		s.15	WESTERN STAR	No			

Section 6 - Accident Information Page 13

Accident Date s.22 Driver Name s.22	Time	Report # 0875612	Location s.22 DL#/Jur s.22	Jur	<i>Type</i> Property	<i>Fault</i> Unknown	Active Points
Plate/Jur		Regi #	Vehicle Desc	Charg	es Laid		
23351P BC		s.15	WESTERN STTRACTOR	No			
Accident Date	Time	Report #	Location	Jur	Туре	Fault	Active Points
s.22		0819251	s.22		Property	Unknown	
Driver Name			DL#/Jur				
s.22			s.22				
Plate/Jur		Regi #	Vehicle Desc	Charg	es Laid		
18486P BC		s.15	PETERBILT TRACTOR	No			

Section 6 - Accident Information Page 14

# Section 7 - Audit Summary

This section summarizes the quantifiable facility audits that have been conducted on this carrier during the requested time period. Compliance Reviews are not included in this summary.

As of June 1, 2015, NSC implemented a new set of questions and scoring criteria for quantifiable facility audits.

No Audits conducted for this carrier during the report period.

Section 7 - Audit Summary Page 15

## Section 8 - CVIP Vehicle Inspection History

This section lists all commercial vehicle inspections (CVIP) conducted on and all outstanding Notice & Orders (N&O Box 1 or Box 2) issued to vehicles operating under the safety certificate during the requested period. CVIP inspections and Notice & Orders are listed for informational purposes only. NSC points are not assigned based on inspection results.

If vehicles are regularly failing CVIP inspections, NSC recommends that the carrier review their vehicle maintenance and trip inspection programs to ensure that defects are being resolved in a timely manner and vehicles are being properly maintained throughout the year.

Regi # S. 15		Plate: null		2006 PETERBILT		
Date	Туре	Facility #	Confirmation #	Decal #	Expiry Date	Result
2017-05-23	CVIP	S12502	11933332	EY60553	2017-11-30	Pass
2017-05-23	CVIP	S12502	11933285	EY60553	2017-11-30	Pass
2016-04-19	CVIP	S0465	11094972	EV24899	2016-10-31	Pass
2015-10-29	CVIP	S4759	10756244	ET70653	2016-04-30	Pass
2015-04-30	CVIP	S4759	10365865	ER78352	2015-10-31	Pass
2014-10-31	CVIP	S4759	9997075	EP74369	2015-04-30	Pass

Regi #: \$.15		Plate: 27627P		2012 PETERE	2012 PETERBILT		
Date	Туре	Facility #	Confirmation #	Decal #	Expiry Date	Result	
2017-03-07	CVIP	S13110	11760279	ET89824	2017-09-30	Pass (Repair Same Day)	
2016-08-29	CVIP	S11840	11387235	EV83408	2017-02-28	Pass (Repair Same Day)	
2016-02-01	CVIP	S6285	10933677	EU39489	2016-08-31	Pass	
2015-07-08	CVIP	S0621	10517888	ES69249	2016-01-31	Pass	

Regi #: S.15		Plate: null		2014 WESTE	2014 WESTERN ST		
Date	Туре	Facility #	Confirmation #	Decal #	Expiry Date	Result	
2017-08-01	CVIP	S12502	12094131	EZ35021	2018-02-28	Pass	
2017-04-07	CVIP	S6321	11829708	EX37439	2017-10-31	Pass	
2015-04-14	CVIP	S6321	10325903	ES04152	2015-10-31	Pass	
2014-10-28	CVIP	S6321	9985876	ER18831	2015-04-30	Pass	

Regi #: s.15		Plate: 17623P		2015 PETERBILT		
Date	Туре	Facility #	Confirmation #	Decal #	Expiry Date	Result
2015-11-13	CVIP	S0465	10787831	ET71039	2016-05-31	Pass